Efficiency vs dr

2 0.05

<
9.045

102

0.8C
107

IO T T T YT T
DQM_original_step2_ttbar-phasel-newgeom
DQM_pixelCPE_step2_ttbar-phasel-newg
DQM_plerCPEChlZOR ste

L

[ Efficiency vs dr (track,jet) |

eom

p2_tth el-newgeom

1 1
TP min AR

.§0.01
d0.009
£
Q.OOS
9.007
>
®.006
Q
359.005
)
0.004
0.003
0.002
0.001

Efficiency vs pu
50.02

1072

-1

1
AR(TP, jét)

o
9.018
9.016F
(] r
D.014F
=
®.012
0.01
0.008
0.006
0.004
0.002
0

..................

.............

A

..................

..................

..................

iy

Ratio

N0
o[

0

[e5)

100 120 140

Pileup



	Contents
	Page 1


